IEM D0

In [1]: import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
# LUESDDS A TS UM M3FEDHIR]
from scipy import stats # #5t54 IS5 2{EH

In [2]: # ER5%H N, s72)

m=12 # FIEDERTE
s=3 # REREDRE

X=stats.norm(m, s) # BEDIZE Nm, s"2) ENSA—2DFENANELD

In [3]: # #MEt=DFER
X.mean() # FH{E

Out[3]: 12.0

In [4]: X.var(Q) # 9Ek

Outl4]: 9.0

In [6]: X.std() # 1Z#RE

Out[5]: 3.0

In [6]: # ZmEEHDE HERZOLOTEEL)
X. pdf (12)

Out[6]: 0.1329807601338109

In [7]: # ZEB#HOIS2
fig = plt. figure(figsize=(5,4))
x=np. arange (-1,23,0.1) # x OHEDIEE. A5, LE. ZHE
plt.plot(x, X. pdf (x), color="red")

Out[7]: [<matplotlib. lines.Line2D at Ox1cfefbb8520>]
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In [8]:

Out[8]:

In [9]:

Out[9]:

In [10]:

Out[10]:

In [11]:

Out[11]:

In [12]:

Out[12]:

In [13]:

Out[13]:

# 2B F(x)=PX=x)
# P(X = 16.5)
X. cdf (16.5) # Python OFEIXEDAFIEZH>TULVEL, BHELBHTERSHZ &

0.9331927987311419

# Python [ZIBEIHZFITS
np. round (X. cdf (16.5), 4) # /INEEAMIFE TR

0.9332

#t P(a<X<b) = F(b)-F(a) TEET S
# P(13. 2<X<16. 5)
X.cdf (16.5)-X. cdf (13.2) # Python DFIEIFFEDHILH > TULVELY, WYL

A
%
i
N
1

0.27777105712081784

#t P(X>a) = 1-F(a) THET S
# P(X>16.5)
1-X.cdf (16.5) # Python OFIEIFEDAITH > TULVEL, BHGMTERASZ &

0.06680720126885809

Fllam 9

# Lflam
# E@ 2.5% = (=Ml 5 =)
X. isf(0.025)

17.879891953620163

2DDIER D THDLLE

B 2DODERDTAEHLBRLTHELD

Y=stats. norm (50, 5) # N(50,572)

Z=stats. norm(40, np. sqrt (24))  # N (40, 24)

fig = plt. figure(figsize=(5,4))

xs=np. arange (20, 70, 0. 1)

plt.plot(xs, Y. pdf (xs), color="blue’, label="N(50, 25)")
plt.plot(xs, Z. pdf (xs), color="red , label="N(40, 24)")
plt. legend () AR IIOEHR

<matplotlib. legend. Legend at Ox1cffOebda00>
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